RESOLUTION NO. 23-98 CITY OF CENTERVILLE, OHIO

SPONSORED BY COUNCILMEMBER <u>JAMES SINGER</u> ON THE <u>17th</u> DAY OF <u>AUGUST</u>, 1998.

A RESOLUTION AUTHORIZING THE CITY MANAGER TO EXECUTE PAYMENT FOR CHANGE ORDERS NECESSARY FOR THE CONSTRUCTION OF THE YANKEE TRACE DRIVE EXTENSION, FOR THE CITY OF CENTERVILLE.

WHEREAS, certain change orders for the construction of the Yankee Trace Drive extension are necessary for the completion of the project; and

WHEREAS, these change orders have been presented to the City of Centerville for payment by the contractor, Pyper Construction Company.

NOW THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

<u>Section 1.</u> That the City Manager is hereby authorized to execute payment for the total amount of \$24,004.75 for the change orders listed in Exhibit "A", attached hereto and incorporated herein, that are necessary for the completion of the Yankee Trace Drive Extension for the City of Centerville.

<u>Section 2.</u> That the City Manager is hereby authorized to execute payment for the total amount of \$173,070.55 for the change orders listed in Exhibit "B", attached hereto and incorporated herein, that are necessary for the completion of the Yankee Trace Drive Extension for the City of Centerville.

Section 3. This Resolution shall become effective at the earliest date allowed by law.

PASSED this <u>1746</u> day of <u>AUGUST</u>, 1998.

alla De Bla

Mayor of the City of Centerville, Ohio

ATTEST:

Clerk of Council, City of Centerville, Ohio

CERTIFICATE

The undersigned, Clerk of the Council of the City of Centerville, Ohio, hereby certifies that the foregoing is a true and correct copy of Resolution Number $\frac{33-78}{23-78}$ passed by the Council of the City of Centerville, Ohio, on the $\frac{1744}{23}$ day of \underline{AUGUST} , 1998.

we Law Clerk of Council

Approved as to form, consistency with the Charter and Constitutional Provisions. Department of Law Robert N. Farquhar Municipal Attorney

Stand Barris



Sally D. Beals Mayor

Bity of Genterville

Gregory B. Florn Eity Manager

100 W. Spring Valley Rd. Centerville, Ohio 45458-3759

August 11, 1998

DELETE

CHANGE ORDER #1

Contract Yankee Trace Drive North Improvements

Contractor Pyper Construction Company 7980 South Suburban Road Centerville, OH 45458

Purpose Change Order #1 provides for miscellaneous additions, changes to original contract quantities due to plan changes or field conditions encountered.

ADD

\$2,965.00

\$3,515.40

\$1,800.00

\$ 720.25

73.10

\$

ITEM DESCRIPTION

Spec Traffic Island "A" (complete)

SpecTraffic Island "B" (complete)\$3,995.00(Per specifications in bidding instructions)

 603
 12 inch Storm Sewer

 217 LF @ \$16.20/LF=\$3,515.40

604 2-2A Catch Basins 3 @ \$600.00/EA=\$1,800

Spec 8"x4" Wyes (sanitary) 2 @ \$36.55/EA=\$73.10

Spec 4" Sanitary Laterals 43 LF @ \$16.75/LF=\$720.25



Fon Architectural Breservation District City (937) 433-7151

Yankee Trace Drive Nor	rth Extension	<i>k</i>	
ITEM DESCRI	PTION	ADD	DELETE
Spec 1" Water 125 LF @	Services \$12.00/LF=\$1,500.00	\$1,500.00	. <u> </u>
Spec 1" Water 2 @ \$125	Taps 5.00/EA= \$250.00	\$ 250.00	-
203 Undercut 1156 CY	ting @ \$6.00/CY= \$6,936.00	\$6,936.00	-
	ross-overs 0 \$7.50/LF= \$2,250.00	\$2,250.00	-
T	OTAL CHANGE ORDER #1	\$24,004.75	

Page 2

C:\ENG\NORB\YTNorthCO1-898.doc

Change Order #1

Gregory B. Florn City Manager



Sally D. Beals Mayor

Bity of Benterville

100 W. Spring Valley Rd. Centerville, Ohio 45458-3759

CHANGE ORDER #2

Contract Yankee Trace Drive North Improvements

- Contractor Pyper Construction Company 7980 South Suburban Road Centerville, OH 45458
- Purpose Change Order #2 provides for a changed plan extending the roadway construction approximately 317 lineal feet south, by increasing the plan quantities, adding a 4'x12' box culvert with headwalls, and adding 12" sanitary sewer extension associated with the roadway construction.

YANKEE TRACE

Yankee Trace Drive North Extension

(Sta 44+00 to 47+17.25)

Description	<u>Unit</u>	Unit Price	Contract <u>Quantity</u>	Contract Amount
EARTHWORK/EROSION CONTROL	OL			
Clearing/Grubbing	LS	1.00	2,200	2,200.00
Excavation	CY	2.20	2,200	4,840.00
Embankment	CY	1.50	2,200	3,300.00
Stripping (Unit Price)	CY	2.20	700	1,540.00
Undercut	CY	6.00	0	0.00
Subtotal Earthwork Unit Price				\$11,880.00
SOIL EROSION CONTROL				
Seed, Mulch, & Fertilizer	AC	0.00	0	0.00
Silt Fence	LF	1.20	400	480.00
Straw Bales	EA	0.00	0	0.00
Curb Gravel Inlet Sediment Filter	EA	65.00	2	130.00
Subtotal Soil Erosion Control		12		\$ 610.00



(937) 433-7151

Change Order #2 Yankee Trace Drive North Extension

QuantityAmountSANITARY SEWER $Ounnect to extensionEA600.001600.0012" Sanitary SewerLF26.5547712,664.3512" Sanitary LateralsLF16.755909,882.50Std. Sanitary MH CompleteEA1,472.0034,416.0012"x4" WYE (pvc)EA75.0010750.0012"x4" WYE (pvc)EA485.002970.00Total Sanitary SewerS34,646.35SECTION 3 – STORM SEWER12" Storm Sewer$34,646.3512" Storm SewerLF16.203475,621.404'x.12' Box CulvertLF614.808854,102.40Catch Basin Type 3EA1,500.0023,000.00Catch Basin Type 3AEA995.0021,990.004'x.12' Box HeadwallEA9,500.00219,000.00Rock Channel Protection (Type B)CY50.00311,550.00UnderdrainsLF5.006303,150.00UnderdrainsLF5.0031,900.00% Water Main (Complete)LF25.503759,562.50Fire Hydrants (New FH Complete)EA1,300.0011,300.00% Gate Valve & BoxEA650.0031,950.00% "Gate Valve & BoxEA150.001175.00Remove Temp FH and ConnectLS250.001250.00Subtotal Water Mains$15,037.50$15,037.50PAVEMENT (UNI$
$\begin{array}{cccccccccccccccccccccccccccccccccccc$
12" Sanitary SewerLF26.554712,664.3512" Sanitary Sewer (C-900 or Poly)LF 31.55 170 $5,363.50$ 4" Sanitary LateralsLF 16.75 590 $9,882.50$ Std. Sanitary MH CompleteEA $1,472.00$ 3 $4,416.00$ $12"x4"$ WYE (pvc)EA 75.00 10 750.00 $12"x4"$ WYE (C-900)EA 485.00 2 970.00 Total Sanitary SewerS34,646.35SECTION 3 – STORM SEWER12" Storm SewerLF 16.20 347 $12"x4"$ WYE (C-900)EA 485.00 2 970.00 Total Sanitary SewerS34,646.35SECTION 3 – STORM SEWER12" Storm SewerLF 614.80 88 $12"$ Storm SewerLF 614.80 88 $54,102.40$ Catch Basin Type 3EA $1,500.00$ 2 $3,000.00$ Catch Basin Type 3AEA 995.00 2 $1,990.00$ $4"x12"$ Box HeadwallEA $9,500.00$ 2 $19,000.00$ Rock Channel Protection (Type B)CY 50.00 31 $1,550.00$ UnderdrainsLF 5.00 630 $3,150.00$ Subtotal Storm Sewer Unit PriceS88,413.80WATER MAIN8" Water Main (Complete)LF 25.50 375 $9,562.50$ Fire Hydrants (Temp. Reuse Ex. Temp) EA $1,300.00$ 1 $1,300.00$ 8" x8" TeeEA 175.00 1 175.00 8" x8" TeeEA 175.00
12" Sanitary Sewer (C-900 or Poly)LF 31.55 170 $5,363.50$ 4" Sanitary LateralsLF 16.75 590 $9,882.50$ Std. Sanitary MH CompleteEA $1,472.00$ 3 $4,416.00$ $12"x4"$ WYE (pvc)EA 75.00 10 750.00 $12"x4"$ WYE (c-900)EA 485.00 2 970.00 Total Sanitary SewerS34,646.35SECTION 3 – STORM SEWER12" Storm SewerLF 16.20 347 $12"$ Storm SewerLF 614.80 88 $54,102.40$ Catch Basin Type 3EA $1,500.00$ 2 $3,000.00$ Catch Basin Type 3AEA 995.00 2 $1,990.00$ $4'x12'$ Box HeadwallEA $9,500.00$ 2 $19,000.00$ Rock Channel Protection (Type B)CY 50.00 31 $1,550.00$ UnderdrainsLF 5.00 630 $3.150.00$ Subtotal Storm Sewer Unit PriceS88,413.80WATER MAIN8" Water Main (Complete)LF 25.50 375 $9,562.50$ Fire Hydrants (Temp. Reuse Ex. Temp)EA $1,300.00$ 1 $1,300.00$ 8" x8" TeeEA 175.00 1 175.00 8" x8" TeeEA 175.00 1 175.00 Remove Temp FH and ConnectLS 250.00 1 250.00 Subtotal Water Mains $$115,037.50$ $$115,037.50$
4" Sanitary Laterals LF 16.75 590 9,882.50 Std. Sanitary MH Complete EA 1,472.00 3 4,416.00 12"x4" WYE (pvc) EA 75.00 10 750.00 12"x4" WYE (c-900) EA 485.00 2 970.00 Total Sanitary Sewer \$34,646.35 SECTION 3 – STORM SEWER 12" Storm Sewer LF 16.20 347 5,621.40 4"x12' Box Culvert LF 614.80 88 54,102.40 Catch Basin Type 3 EA 1,500.00 2 3,000.00 Catch Basin Type 3A EA 995.00 2 1,990.00 4'x12' Box Headwall EA 9,500.00 2 19,900.00 Rock Channel Protection (Type B) CY 50.00 31 1,550.00 Underdrains LF 5.00 630 3,150.00 Subtotal Storm Sewer Unit Price \$88,413.80 \$88,413.80 WATER MAIN 8" Water Main (Complete) LF 25.50 375 9,562.50 Fire Hydrants (New FH Complete) EA 1,800.00 1 1,300.00<
Std. Sanitary MH CompleteEA $1,472.00$ 3 $4,416.00$ $12"x4"$ WYE (pvc)EA 75.00 10 750.00 $12"x4"$ WYE (C-900)EA 485.00 2 970.00 Total Sanitary Sewer $$34,646.35$ SECTION 3 - STORM SEWER12" Storm Sewer $$34,646.35$ $12"x12"$ Box CulvertLF 16.20 347 $5,621.40$ $4'x12'$ Box CulvertLF 614.80 88 $54,102.40$ Catch Basin Type 3EA $1,500.00$ 2 $3,000.00$ Catch Basin Type 3AEA 995.00 2 $1,990.00$ $4'x12'$ Box HeadwallEA $9,500.00$ 2 $19,000.00$ Rock Channel Protection (Type B)CY 50.00 31 $1,550.00$ UnderdrainsLF 5.00 630 $3,150.00$ Subtotal Storm Sewer Unit Price $$88,413.80$ $$88,413.80$ WATER MAIN8" Water Main (Complete)LF 25.50 375 $9,562.50$ Fire Hydrants (New FH Complete)EA $1,800.00$ 1 $1,800.00$ Fire Hydrants (Temp. Reuse Ex. Temp) EA $1,300.00$ 1 $1,300.00$ 8"x8" TeeEA 175.00 1 175.00 Remove Temp FH and ConnectLS 250.00 1 250.00 Subtotal Water Mains $$115,037.50$ $$115,037.50$
12"x4" WYE (pvc)EA75.0010750.00 $12"x4"$ WYE (C-900)EA485.002970.00Total Sanitary Sewer\$34,646.35SECTION 3 - STORM SEWER12" Storm SewerLF16.203475,621.404"x12' Box CulvertLF614.808854,102.40Catch Basin Type 3EA1,500.0023,000.00Catch Basin Type 3AEA995.0021,990.004"x12' Box HeadwallEA9,500.00219,000.00A'x12' Box HeadwallEA9,500.00311,550.00UnderdrainsLF5.006303,150.00UnderdrainsLF5.006303,150.00Subtotal Storm Sewer Unit Price\$888,413.80\$88,413.80WATER MAIN8" Water Main (Complete)LF25.503759,562.50Fire Hydrants (New FH Complete)EA1,800.0011,300.008" Gate Valve & BoxEA650.0031,950.008"x8" TeeEA175.001175.00Remove Temp FH and ConnectLS250.001250.00Subtotal Water Mains\$15,037.501175.00
12"x4" WYE (C-900) EA 485.00 2 970.00 Total Sanitary Sewer \$334,646.35 SECTION 3 – STORM SEWER $12"$ Storm Sewer LF 16.20 347 $5,621.40$ $4'x12'$ Box Culvert LF 614.80 88 $54,102.40$ Catch Basin Type 3 EA $1,500.00$ 2 $3,000.00$ Catch Basin Type 3A EA 995.00 2 $1,990.00$ $4'x12'$ Box Headwall EA 995.00 2 $1,990.00$ $4'x12'$ Box Headwall EA 995.00 2 $1,990.00$ $4'x12'$ Box Headwall EA $9,500.00$ 2 $19,000.00$ Rock Channel Protection (Type B) CY 50.00 31 $1,550.00$ Underdrains LF 5.00 630 $3,150.00$ Subtotal Storm Sewer Unit Price \$888,413.80 \$88,413.80 WATER MAIN 8" Water Main (Complete) LF 25.50 375 $9,562.50$ Fire Hydrants (Temp. Reuse Ex. Temp) EA $1,300.00$ 1 $1,300.00$ 8" Gate Valve & Box EA
Total Sanitary Sewer $\$34,646.35$ SECTION 3 – STORM SEWER 12" Storm Sewer LF 16.20 347 5,621.40 4'x12' Box Culvert LF 614.80 88 54,102.40 Catch Basin Type 3 EA 1,500.00 2 3,000.00 Catch Basin Type 3A EA 995.00 2 1,990.00 4'x12' Box Headwall EA 9,500.00 2 19,000.00 Catch Basin Type 3A EA 9,500.00 2 19,000.00 Catch Basin Type 3A EA 9,500.00 2 19,000.00 A'x12' Box Headwall EA 9,500.00 2 19,000.00 Rock Channel Protection (Type B) CY 50.00 31 1,550.00 Underdrains LF 5.00 630 3,150.00 Subtotal Storm Sewer Unit Price \$88,413.80 WATER MAIN 8" Water Main (Complete) LF 25.50 375 9,562.50 Fire Hydrants (New FH Complete) EA 1,800.00 1 1,300.00 1 1,300.00 8" Gate Valve & Box EA 650.00 3 1,95
SECTION 3 – STORM SEWER 12" Storm Sewer LF 16.20 347 5,621.40 4'x12' Box Culvert LF 614.80 88 54,102.40 Catch Basin Type 3 EA 1,500.00 2 3,000.00 Catch Basin Type 3A EA 995.00 2 1,990.00 4'x12' Box Headwall EA 9,500.00 2 19,900.00 A'x12' Box Headwall EA 9,500.00 2 19,900.00 A'x12' Box Headwall EA 9,500.00 2 19,000.00 Rock Channel Protection (Type B) CY 50.00 31 1,550.00 Underdrains LF 5.00 630 3,150.00 Subtotal Storm Sewer Unit Price \$88,413.80 WATER MAIN 8" Water Main (Complete) LF 25.50 375 9,562.50 Fire Hydrants (New FH Complete) EA 1,800.00 1 1,800.00 Fire Hydrants (New FH Complete) EA 1,300.00 1 1,300.00 8" Gate Valve & Box EA 650.00 3 1,950.00 8"x8" Tee EA
12" Storm Sewer LF 16.20 347 5,621.40 4'x12' Box Culvert LF 614.80 88 54,102.40 Catch Basin Type 3 EA 1,500.00 2 3,000.00 Catch Basin Type 3A EA 995.00 2 1,990.00 4'x12' Box Headwall EA 995.00 2 1,990.00 4'x12' Box Headwall EA 9,500.00 2 19,000.00 Rock Channel Protection (Type B) CY 50.00 31 1,550.00 Underdrains LF 5.00 630 3,150.00 Subtotal Storm Sewer Unit Price \$88,413.80 WATER MAIN 8" Water Main (Complete) LF 25.50 375 9,562.50 Fire Hydrants (New FH Complete) EA 1,800.00 1 1,800.00 Fire Hydrants (Temp. Reuse Ex. Temp) EA 1,300.00 1 1,300.00 8" Gate Valve & Box EA 650.00 3 1,950.00 8"x8" Tee EA 175.00 1 175.00 Remove Temp FH and Connect LS 250.00 1 250.00
4'x12' Box Culvert LF 614.80 88 54,102.40 Catch Basin Type 3 EA 1,500.00 2 3,000.00 Catch Basin Type 3A EA 995.00 2 1,990.00 4'x12' Box Headwall EA 995.00 2 19,000.00 A'x12' Box Headwall EA 9,500.00 2 19,000.00 Rock Channel Protection (Type B) CY 50.00 31 1,550.00 Underdrains LF 5.00 630 3,150.00 Subtotal Storm Sewer Unit Price \$88,413.80 WATER MAIN 8" Water Main (Complete) LF 25.50 375 9,562.50 Fire Hydrants (New FH Complete) EA 1,800.00 1 1,800.00 Fire Hydrants (Temp. Reuse Ex. Temp) EA 1,300.00 1 1,300.00 8" Gate Valve & Box EA 650.00 3 1,950.00 8"x8" Tee EA 175.00 1 175.00 Remove Temp FH and Connect LS 250.00 1 250.00 Subtotal Water Mains \$15,037.50 \$15,037.50 \$15,037.50
Catch Basin Type 3 EA 1,500.00 2 3,000.00 Catch Basin Type 3A EA 995.00 2 1,990.00 4'x12' Box Headwall EA 9,500.00 2 19,000.00 Rock Channel Protection (Type B) CY 50.00 31 1,550.00 Underdrains LF 5.00 630 3,150.00 Subtotal Storm Sewer Unit Price \$88,413.80 WATER MAIN 8" Water Main (Complete) LF 25.50 375 9,562.50 Fire Hydrants (New FH Complete) EA 1,800.00 1 1,800.00 Fire Hydrants (Temp. Reuse Ex. Temp) EA 1,300.00 1 1,300.00 8" Kate EA 650.00 3 1,950.00 8" x8" Tee EA 175.00 1 175.00 Remove Temp FH and Connect LS 250.00 1 250.00 Subtotal Water Mains \$15,037.50 \$15,037.50 1
Catch Basin Type 3A EA 995.00 2 1,990.00 4'x12' Box Headwall EA 9,500.00 2 19,000.00 Rock Channel Protection (Type B) CY 50.00 31 1,550.00 Underdrains LF 5.00 630 3,150.00 Subtotal Storm Sewer Unit Price \$88,413.80 WATER MAIN \$8" Water Main (Complete) LF 25.50 375 9,562.50 Fire Hydrants (New FH Complete) EA 1,800.00 1 1,800.00 Fire Hydrants (Temp. Reuse Ex. Temp) EA 1,300.00 1 1,300.00 8" Gate Valve & Box EA 650.00 3 1,950.00 8"x8" Tee EA 175.00 1 175.00 Remove Temp FH and Connect LS 250.00 1 250.00 Subtotal Water Mains \$15,037.50 \$15,037.50
4'x12' Box Headwall EA 9,500.00 2 19,000.00 Rock Channel Protection (Type B) CY 50.00 31 1,550.00 Underdrains LF 5.00 630 3,150.00 Subtotal Storm Sewer Unit Price \$88,413.80 WATER MAIN 8" Water Main (Complete) LF 25.50 375 9,562.50 Fire Hydrants (New FH Complete) EA 1,800.00 1 1,800.00 Fire Hydrants (Temp. Reuse Ex. Temp) EA 1,300.00 1 1,300.00 8" Gate Valve & Box EA 650.00 3 1,950.00 8"x8" Tee EA 175.00 1 175.00 Remove Temp FH and Connect LS 250.00 1 250.00 Subtotal Water Mains \$15,037.50 \$15,037.50 1
Rock Channel Protection (Type B) CY 50.00 31 1,550.00 Underdrains LF 5.00 630 3,150.00 Subtotal Storm Sewer Unit Price \$88,413.80 WATER MAIN 8" Water Main (Complete) LF 25.50 375 9,562.50 Fire Hydrants (New FH Complete) EA 1,800.00 1 1,800.00 Fire Hydrants (Temp. Reuse Ex. Temp) EA 1,300.00 1 1,300.00 8" Gate Valve & Box EA 650.00 3 1,950.00 8"x8" Tee EA 175.00 1 175.00 Remove Temp FH and Connect LS 250.00 1 250.00 Subtotal Water Mains \$15,037.50 \$15,037.50
Underdrains LF 5.00 630 3.150.00 Subtotal Storm Sewer Unit Price \$88,413.80 \$88,413.80 WATER MAIN 8" Water Main (Complete) LF 25.50 375 9,562.50 Fire Hydrants (New FH Complete) EA 1,800.00 1 1,800.00 Fire Hydrants (Temp. Reuse Ex. Temp) EA 1,300.00 1 1,300.00 8" Gate Valve & Box EA 650.00 3 1,950.00 8"x8" Tee EA 175.00 1 175.00 Remove Temp FH and Connect LS 250.00 1 250.00 Subtotal Water Mains \$15,037.50 \$15,037.50 \$15,037.50
Subtotal Storm Sewer Unit Price 500 51,500,600 WATER MAIN 8" Water Main (Complete) LF 25,50 375 9,562.50 Fire Hydrants (New FH Complete) EA 1,800.00 1 1,800.00 Fire Hydrants (Temp. Reuse Ex. Temp) EA 1,300.00 1 1,300.00 8" Gate Valve & Box EA 650.00 3 1,950.00 8"x8" Tee EA 175.00 1 175.00 Remove Temp FH and Connect LS 250.00 1 250.00 Subtotal Water Mains \$15,037.50 \$15,037.50
WATER MAIN 8" Water Main (Complete) LF 25.50 375 9,562.50 Fire Hydrants (New FH Complete) EA 1,800.00 1 1,800.00 Fire Hydrants (Temp. Reuse Ex. Temp) EA 1,300.00 1 1,300.00 8" Gate Valve & Box EA 650.00 3 1,950.00 8"x8" Tee EA 175.00 1 175.00 Remove Temp FH and Connect LS 250.00 1 250.00 Subtotal Water Mains \$15,037.50 \$15,037.50 \$15,037.50
8" Water Main (Complete) LF 25.50 375 9,562.50 Fire Hydrants (New FH Complete) EA 1,800.00 1 1,800.00 Fire Hydrants (Temp. Reuse Ex. Temp) EA 1,300.00 1 1,300.00 8" Gate Valve & Box EA 650.00 3 1,950.00 8"x8" Tee EA 175.00 1 175.00 Remove Temp FH and Connect LS 250.00 1 250.00 Subtotal Water Mains \$15,037.50 \$15,037.50 \$15,037.50
8" Water Main (Complete) LF 25.50 375 9,562.50 Fire Hydrants (New FH Complete) EA 1,800.00 1 1,800.00 Fire Hydrants (Temp. Reuse Ex. Temp) EA 1,300.00 1 1,300.00 8" Gate Valve & Box EA 650.00 3 1,950.00 8"x8" Tee EA 175.00 1 175.00 Remove Temp FH and Connect LS 250.00 1 250.00 Subtotal Water Mains \$15,037.50 \$15,037.50 \$15,037.50
Fire Hydrants (New FH Complete) EA 1,800.00 1 1,800.00 Fire Hydrants (Temp. Reuse Ex. Temp) EA 1,300.00 1 1,300.00 8" Gate Valve & Box EA 650.00 3 1,950.00 8"x8" Tee EA 175.00 1 175.00 Remove Temp FH and Connect LS 250.00 1 250.00 Subtotal Water Mains \$15,037.50
Fire Hydrants (Temp. Reuse Ex. Temp) EA 1,300.00 1 1,300.00 8" Gate Valve & Box EA 650.00 3 1,950.00 8"x8" Tee EA 175.00 1 175.00 Remove Temp FH and Connect LS 250.00 1 250.00 Subtotal Water Mains \$15,037.50
8" Gate Valve & Box EA 650.00 3 1,950.00 8"x8" Tee EA 175.00 1 175.00 Remove Temp FH and Connect LS 250.00 1 250.00 Subtotal Water Mains \$15,037.50
8"x8" Tee EA 175.00 1 175.00 Remove Temp FH and Connect LS 250.00 1 250.00 Subtotal Water Mains \$15,037.50 \$15,037.50 \$15,037.50
Remove Temp FH and ConnectLS250.001250.00Subtotal Water Mains\$15,037.50
Subtotal Water Mains \$15,037.50
\$13,037.30
PAVEMENT (UNIT PRICE)
Hiker/Biker Trail SF 0.77 2,040 1,570.80
304 Aggregate Base CY 25.00 17.3 4.325.00
301 Asphalt Base CY 57.42 70 4,019.40
403 Asphalt Level CY 71.02 35 2,485.70
24" Roll Curb & Gutter LF 8.00 625 5,000.00
and it and the second
Electric Crossovers (4-4") LF 7.50 100 750.00 Wheel Chair Ramp EA 66.00 2 132.00
Subtotal Pavement Unit Price \$18,282.90
MISCELLANEOUS
Construction layout staking Lump 2,500.00 1 2,500.00
Additional bond Premium Lump 1,700.00 1 1.700.00
Subtotal Miscellaneous 4,200.00

TOTAL CHANGE ORDER #2

\$173,070.55

C:\ENG\NORB\YTNorthCO2-898.doc